

Reporting Dates							
							40 hun 0047
Pool Closing Date Pool Notice Date							16 Jun 2017 21 Oct 2019
Distribution Date							23 Oct 2019
Collection Start Date							01 Sep 2019
Collection End Date							30 Sep 2019
Collection Days							30
Accrual Start Date							23 Sep 2019
Accrual End Date							23 Oct 2019
Accrual Days							30
Securities on Issue							
Securities on Issue							
			No of (Certificates	Initial Amount		Initial Amount
Class A1 Notes				220,800		AUD	2,208,000,000.00
Class A2 Notes				9,360		AUD	93,600,000.00
Class B Notes				4,992		AUD	49,920,000.00
Class C Notes				2,328		AUD	23,280,000.00
Class D Notes				960		AUD	9,600,000.00
Class E Notes				816		AUD	8,160,000.00
Class F Notes				744		AUD	7,440,000.00
Pool Size							
Number of loans at issue				8,588.00			
Number of loans at beginning				5,835.00			
Number of loans at end				5,760.00			
Losses							
Number of Losses				0.00			
Value of Losses				0.00			
value of Losses				0.00			
Interest Rate for Accrual P	Period						
Note			Interest Rate		O	60	upon Rate
					Coupon Margin		
Class A1 Notes			0.99780%		0.98000%		1.97780%
Close A2 Notes			0.007800/		1 500000/		2 407800/
Class A2 Notes			0.99780%		1.50000%		2.49780%
Class B Notes			0.99780%		2.05000%		3.04780%
Class B Notes Class C Notes			0.99780% 0.99780%		2.05000% 2.55000%		3.04780% 3.54780%
Class B Notes Class C Notes Class D Notes			0.99780% 0.99780% 0.99780%		2.05000% 2.55000% 3.55000%		3.04780% 3.54780% 4.54780%
Class B Notes Class C Notes Class D Notes Class E Notes			0.99780% 0.99780% 0.99780% 0.99780%		2.05000% 2.55000% 3.55000% 4.65000%		3.04780% 3.54780% 4.54780% 5.64780%
Class B Notes Class C Notes Class D Notes			0.99780% 0.99780% 0.99780%		2.05000% 2.55000% 3.55000%		3.04780% 3.54780% 4.54780%
Class B Notes Class C Notes Class D Notes Class E Notes	3		0.99780% 0.99780% 0.99780% 0.99780%		2.05000% 2.55000% 3.55000% 4.65000%		3.04780% 3.54780% 4.54780% 5.64780%
Class B Notes Class C Notes Class D Notes Class E Notes Class F Notes	5		0.99780% 0.99780% 0.99780% 0.99780% 0.99780%		2.05000% 2.55000% 3.55000% 4.65000%		3.04780% 3.54780% 4.54780% 5.64780%
Class B Notes Class C Notes Class D Notes Class E Notes Class F Notes Monthly Accrual Period for Facilities			0.99780% 0.99780% 0.99780% 0.99780% 0.99780%		2.05000% 2.55000% 3.55000% 4.65000%		3.04780% 3.54780% 4.54780% 5.64780%
Class B Notes Class C Notes Class D Notes Class E Notes Class F Notes	istribution Date	Interest Acorecate	0.99780% 0.99780% 0.99780% 0.99780% 0.99780%	Principal Accrecate	2.05000% 2.55000% 3.55000% 4.65000% 5.85000%		3.04780% 3.54780% 4.54780% 5.64780% 6.84780%
Class B Notes Class C Notes Class D Notes Class E Notes Class F Notes Monthly Accrual Period for Facilities Distribution Payable on Di	istribution Date	Interest Aggregate	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% 0.99780% Principal Per Cert	Principal Aggregate	2.05000% 2.55000% 4.65000% 5.85000%	er Cert	3.04780% 3.54780% 4.54780% 5.64780% 6.84780% <u>Total Aggregate</u>
Class B Notes Class C Notes Class D Notes Class E Notes Class F Notes Monthly Accrual Period for Facilities	istribution Date Interest Per Cert 9.34	2,062,272.00	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% 0.99780% <u>Principal Per Cert</u> 111.49	24,616,992.00	2.05000% 2.55000% 4.65000% 5.85000%	er Cert 120.83	3.04780% 3.54780% 4.54780% 5.64780% 6.84780% <u>Total Aggregate</u> 26,679,264.00
Class B Notes Class C Notes Class D Notes Class E Notes Class F Notes Monthly Accrual Period for Facilities Distribution Payable on Di Class A1 Notes Class A2 Notes	istribution Date Interest Per Cert 9.34 20.52		0.99780% 0.99780% 0.99780% 0.99780% 0.99780% 0.99780% Principal Per Cert	24,616,992.00 0.00	2.05000% 2.55000% 4.65000% 5.85000%	er Cert	3.04780% 3.54780% 4.54780% 5.64780% 6.84780% <u>Total Aggregate</u> 26,679,264.00 192,067.20
Class B Notes Class C Notes Class D Notes Class E Notes Class F Notes Monthly Accrual Period for Facilities	istribution Date Interest Per Cert 9.34	2,062,272.00	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% 0.99780% <u>Principal Per Cert</u> 111.49	24,616,992.00	2.05000% 2.55000% 4.65000% 5.85000%	er Cert 120.83	3.04780% 3.54780% 4.54780% 5.64780% 6.84780% <u>Total Aggregate</u> 26,679,264.00
Class B Notes Class C Notes Class D Notes Class E Notes Class F Notes Monthly Accrual Period for Facilities Distribution Payable on Di Class A1 Notes Class A2 Notes	istribution Date Interest Per Cert 9.34 20.52	2,062,272.00 192,067.20	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% <u>Principal Per Cert</u> 111.49 0.00	24,616,992.00 0.00	2.05000% 2.55000% 4.65000% 5.85000%	er Cert 120.83 20.52	3.04780% 3.54780% 4.54780% 5.64780% 6.84780% <u>Total Aggregate</u> 26,679,264.00 192,067.20
Class B Notes Class C Notes Class D Notes Class E Notes Class F Notes Monthly Accrual Period for Facilities Distribution Payable on Di Class A1 Notes Class A2 Notes Class B Notes	istribution Date Interest Per Cert 9.34 20.52 25.05	2,062,272.00 192,067.20 125,049.60	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% <u>Principal Per Cert</u> 111.49 0.00 0.00	24,616,992.00 0.00 0.00	2.05000% 2.55000% 4.65000% 5.85000%	er Cert 120.83 20.52 25.05 29.16	3.04780% 3.54780% 4.54780% 5.64780% 6.84780% <u>Total Aggregate</u> 26,679,264.00 192,067.20 125,049.60
Class B Notes Class C Notes Class C Notes Class E Notes Class F Notes Monthly Accrual Period for Facilities Distribution Payable on Di Class A1 Notes Class A2 Notes Class B Notes Class D Notes	istribution Date <u>Interest Per Cert</u> 9.34 20.52 25.05 29.16 37.37	2,062,272.00 192,067.20 125,049.60 67,884.48 35,875.20	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% 0.99780% <u>Principal Per Cert</u> 111.49 0.00 0.00	24,616,992.00 0.00 0.00 0.00 0.00	2.05000% 2.55000% 4.65000% 5.85000%	er Cert 120.83 20.52 25.05 29.16 37.37	3.04780% 3.54780% 5.64780% 6.84780% 6.84780% 26,679,264.00 192,067.20 125,049.60 67,884.48 35,875.20
Class B Notes Class C Notes Class D Notes Class E Notes Class F Notes Monthly Accrual Period for Facilities Distribution Payable on Di Class A1 Notes Class A2 Notes Class B Notes Class C Notes	istribution Date Interest Per Cert 9.34 20.52 25.05 29.16	2,062,272.00 192,067.20 125,049.60 67,884.48	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% 0.99780% <u>Principal Per Cert</u> 111.49 0.00 0.00	24,616,992.00 0.00 0.00 0.00	2.05000% 2.55000% 4.65000% 5.85000%	er Cert 120.83 20.52 25.05 29.16	3.04780% 3.54780% 4.54780% 5.64780% 6.84780% 5.64780% 5.64780% 5.64780% 5.64780% 5.64780% 5.64780% 5.64780% 5.64780% 192,067.20 125,049.60 67,884.48
Class B Notes Class C Notes Class D Notes Class E Notes Class F Notes Monthly Accrual Period for Facilities Distribution Payable on Di Class A1 Notes Class A2 Notes Class B Notes Class C Notes Class C Notes Class E Notes Class F Notes Class F Notes	istribution Date 9.34 20.52 25.05 29.16 37.37 46.42 56.28	2,062,272.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% <u>Principal Per Cert</u> 111.49 0.00 0.00 0.00 0.00 0.00 0.00	24,616,992.00 0.00 0.00 0.00 0.00 0.00	2.05000% 2.55000% 4.65000% 5.85000%	er Cert 120.83 20.52 25.05 29.16 37.37 46.42 56.28	3.04780% 3.54780% 5.64780% 5.64780% 6.84780%
Class B Notes Class C Notes Class D Notes Class E Notes Class F Notes Monthly Accrual Period for Facilities Distribution Payable on Di Class A1 Notes Class A2 Notes Class B Notes Class D Notes Class D Notes Class E Notes	istribution Date Interest Per Cert 9.34 20.52 25.05 29.16 37.37 46.42	2,062,272.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% 0.99780% <u>Principal Per Cert</u> 111.49 0.00 0.00 0.00	24,616,992.00 0.00 0.00 0.00 0.00 0.00 0.00	2.05000% 2.55000% 4.65000% 5.85000%	er Cert 120.83 20.52 25.05 29.16 37.37 46.42	3.04780% 3.54780% 5.64780% 6.84780% 6.84780% 26.679,264.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72
Class B Notes Class C Notes Class D Notes Class E Notes Class F Notes Monthly Accrual Period for Facilities Distribution Payable on Di Class A1 Notes Class A2 Notes Class B Notes Class C Notes Class C Notes Class E Notes Class F Notes Class F Notes	istribution Date 9.34 20.52 25.05 29.16 37.37 46.42 56.28	2,062,272.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% <u>Principal Per Cert</u> 111.49 0.00 0.00 0.00 0.00 0.00 0.00	24,616,992.00 0.00 0.00 0.00 0.00 0.00	2.05000% 2.55000% 4.65000% 5.85000%	er Cert 120.83 20.52 25.05 29.16 37.37 46.42 56.28	3.04780% 3.54780% 5.64780% 5.64780% 6.84780%
Class B Notes Class C Notes Class D Notes Class F Notes Class F Notes Monthly Accrual Period for Facilities Distribution Payable on Di Class A1 Notes Class A2 Notes Class B Notes Class D Notes Class D Notes Class E Notes Class F Notes Class F Notes Class F Notes Class F Notes	istribution Date 9.34 20.52 25.05 29.16 37.37 46.42 56.28	2,062,272.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% <u>Principal Per Cert</u> 111.49 0.00 0.00 0.00 0.00 0.00 0.00	24,616,992.00 0.00 0.00 0.00 0.00 0.00	2.05000% 2.55000% 4.65000% 5.85000% <u>Total Amount Pe</u>	er Cert 120.83 20.52 25.05 29.16 37.37 46.42 56.28 335.63	3.04780% 3.54780% 5.64780% 5.64780% 6.84780% 26,679,264.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32
Class B Notes Class C Notes Class D Notes Class E Notes Class F Notes Monthly Accrual Period for Facilities Distribution Payable on Di Class A1 Notes Class A2 Notes Class B Notes Class D Notes Class C Notes Class E Notes Class F Notes Class F Notes Total Pool Factors	istribution Date 9.34 20.52 25.05 29.16 37.37 46.42 56.28	2,062,272.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% <u>Principal Per Cert</u> 111.49 0.00 0.00 0.00 0.00 0.00 0.00	24,616,992.00 0.00 0.00 0.00 0.00 0.00	2.05000% 2.55000% 4.65000% 5.85000% <u>Total Amount Pe</u>	er Cert 120.83 20.52 25.05 29.16 37.37 46.42 56.28 335.63	3.04780% 3.54780% 5.64780% 5.64780% 6.84780% 6.84780% 26,679,264.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32 27,179,891.52
Class B Notes Class C Notes Class C Notes Class E Notes Class F Notes Monthly Accrual Period for Facilities Distribution Payable on Di Class A1 Notes Class A2 Notes Class B Notes Class C Notes Class C Notes Class E Notes Class F Notes Class F Notes Class F Notes Class A1 Notes Class A1 Notes	istribution Date 9.34 20.52 25.05 29.16 37.37 46.42 56.28	2,062,272.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% <u>Principal Per Cert</u> 111.49 0.00 0.00 0.00 0.00 0.00 0.00	24,616,992.00 0.00 0.00 0.00 0.00 0.00	2.05000% 2.55000% 4.65000% 5.85000% <u>Total Amount Pe</u> 	er Cert 120.83 20.52 25.05 29.16 37.37 46.42 56.28 335.63	3.04780% 3.54780% 4.54780% 5.64780% 6.84780% <u>Total Aggregate</u> 26,679,264.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32 27,179,891.52 <u>Current Distribution</u> 0.56371200
Class B Notes Class C Notes Class D Notes Class E Notes Class F Notes Monthly Accrual Period for Facilities Distribution Payable on Di Class A1 Notes Class A2 Notes Class B Notes Class C Notes Class C Notes Class F Notes Class F Notes Class F Notes Class F Notes Class A1 Notes	istribution Date 9.34 20.52 25.05 29.16 37.37 46.42 56.28	2,062,272.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% <u>Principal Per Cert</u> 111.49 0.00 0.00 0.00 0.00 0.00 0.00	24,616,992.00 0.00 0.00 0.00 0.00 0.00	2.05000% 2.55000% 4.65000% 5.85000% <u>Total Amount Pe</u> 	er Cert 120.83 20.52 25.05 29.16 37.37 46.42 56.28 335.63	3.04780% 3.54780% 5.64780% 5.64780% 6.84780% 6.84780% <u>Total Aggregate</u> 26,679,264.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32 27,179,891.52 <u>Current Distribution</u> 0.56371200 1.00000000
Class B Notes Class C Notes Class C Notes Class E Notes Class F Notes Monthly Accrual Period for Facilities Distribution Payable on Di Class A1 Notes Class A2 Notes Class B Notes Class C Notes Class C Notes Class E Notes Class F Notes Class F Notes Class F Notes Class A1 Notes Class A1 Notes	istribution Date 9.34 20.52 25.05 29.16 37.37 46.42 56.28	2,062,272.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% <u>Principal Per Cert</u> 111.49 0.00 0.00 0.00 0.00 0.00 0.00	24,616,992.00 0.00 0.00 0.00 0.00 0.00	2.05000% 2.55000% 4.65000% 5.85000% <u>Total Amount Pe</u> 	er Cert 120.83 20.52 25.05 29.16 37.37 46.42 56.28 335.63	3.04780% 3.54780% 5.64780% 5.64780% 6.84780% 6.84780% <u>Total Aggregate</u> 26,679,264.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32 27,179,891.52 <u>Current Distribution</u> 0.56371200
Class B Notes Class C Notes Class D Notes Class E Notes Class F Notes Monthly Accrual Period for Facilities Distribution Payable on Di Class A1 Notes Class A2 Notes Class B Notes Class C Notes Class C Notes Class F Notes Class F Notes Class F Notes Class F Notes Class A1 Notes	istribution Date 9.34 20.52 25.05 29.16 37.37 46.42 56.28	2,062,272.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% <u>Principal Per Cert</u> 111.49 0.00 0.00 0.00 0.00 0.00 0.00	24,616,992.00 0.00 0.00 0.00 0.00 0.00	2.05000% 2.55000% 4.65000% 5.85000% <u>Total Amount Pe</u> 	er Cert 120.83 20.52 25.05 29.16 37.37 46.42 56.28 335.63	3.04780% 3.54780% 5.64780% 5.64780% 6.84780% 6.84780% <u>Total Aggregate</u> 26,679,264.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32 27,179,891.52 <u>Current Distribution</u> 0.56371200 1.00000000
Class B Notes Class C Notes Class D Notes Class F Notes Class F Notes Monthly Accrual Period for Facilities Distribution Payable on Di Class A1 Notes Class A2 Notes Class B Notes Class C Notes Class C Notes Class E Notes Class F Notes Class F Notes Class F Notes Class A1 Notes Class A1 Notes Class A1 Notes Class A2 Notes Class B Notes	istribution Date 9.34 20.52 25.05 29.16 37.37 46.42 56.28	2,062,272.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% <u>Principal Per Cert</u> 111.49 0.00 0.00 0.00 0.00 0.00 0.00	24,616,992.00 0.00 0.00 0.00 0.00 0.00	2.05000% 2.5500% 3.55000% 5.85000% <u>Total Amount Pe</u> <u>Previous Distribution</u> 0.57486100 1.0000000 1.0000000	er Cert 120.83 20.52 25.05 29.16 37.37 46.42 56.28 335.63	3.04780% 3.54780% 4.54780% 5.64780% 6.84780% 6.84780% 26,679,264.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32 27,179,891.52 2007000000000000000000000000000000000
Class B Notes Class C Notes Class C Notes Class F Notes Class F Notes Monthly Accrual Period for Facilities Distribution Payable on Di Class A1 Notes Class B Notes Class B Notes Class B Notes Class C Notes Class F Notes Class F Notes Class F Notes Class F Notes Class A1 Notes Class A2 Notes Class B Notes Class B Notes Class B Notes	istribution Date 9.34 20.52 25.05 29.16 37.37 46.42 56.28	2,062,272.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% <u>Principal Per Cert</u> 111.49 0.00 0.00 0.00 0.00 0.00 0.00	24,616,992.00 0.00 0.00 0.00 0.00 0.00	2.05000% 2.5500% 3.55000% 5.85000% <u>Total Amount Pe</u> <u>Previous Distribution</u> 0.57486100 1.0000000 1.0000000	er Cert 120.83 20.52 25.05 29.16 37.37 46.42 56.28 335.63	3.04780% 3.54780% 4.54780% 5.64780% 6.84780% 6.84780% 26,679,264.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32 27,179,891.52 2urrent Distribution 0.56371200 1.0000000 1.0000000 1.0000000
Class B Notes Class C Notes Class C Notes Class E Notes Class F Notes Monthly Accrual Period for Facilities Distribution Payable on Di Class A1 Notes Class A2 Notes Class B Notes Class B Notes Class B Notes Class C Notes Class E Notes Class F Notes Class F Notes Class A1 Notes Class A1 Notes Class A1 Notes Class A1 Notes Class B Notes Class D Notes	istribution Date 9.34 20.52 25.05 29.16 37.37 46.42 56.28	2,062,272.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% <u>Principal Per Cert</u> 111.49 0.00 0.00 0.00 0.00 0.00 0.00	24,616,992.00 0.00 0.00 0.00 0.00 0.00	2.05000% 2.5500% 3.55000% 4.65000% 5.85000%	er Cert 120.83 20.52 25.05 29.16 37.37 46.42 56.28 335.63	3.04780% 3.54780% 4.54780% 5.64780% 6.84780% 6.84780% 6.84780% 7.000000 192,067,20 125,049,60 67,884,48 35,875.20 37,878.72 41,872.32 27,179,891.52 20,56371200 1.00000000 1.00000000 1.00000000 1.00000000
Class B Notes Class C Notes Class C Notes Class F Notes Class F Notes Monthly Accrual Period for Facilities Distribution Payable on Di Class A1 Notes Class A2 Notes Class D Notes Class C Notes Class C Notes Class C Notes Class F Notes Class F Notes Class F Notes Class A1 Notes Class A1 Notes Class A2 Notes Class A2 Notes Class A2 Notes Class C Notes Class D Notes Class C Notes Class C Notes Class C Notes Class C Notes	istribution Date 9.34 20.52 25.05 29.16 37.37 46.42 56.28	2,062,272.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% <u>Principal Per Cert</u> 111.49 0.00 0.00 0.00 0.00 0.00 0.00	24,616,992.00 0.00 0.00 0.00 0.00 0.00	2.05000% 2.55000% 3.55000% 4.65000% 5.85000% <u>Total Amount Perevious Distribution</u> 0.57486100 1.0000000 1.0000000 1.0000000 1.0000000 1.0000000 1.0000000	er Cert 120.83 20.52 25.05 29.16 37.37 46.42 56.28 335.63	3.04780% 3.54780% 5.64780% 5.64780% 6.84780% 6.84780% 6.84780% 7000 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32 27,179,891.52 2000 1.0000000 1.00000000 1.00000000 1.00000000
Class B Notes Class C Notes Class C Notes Class F Notes Class F Notes Monthly Accrual Period for Facilities Distribution Payable on Di Class A1 Notes Class A2 Notes Class D Notes Class C Notes Class C Notes Class C Notes Class F Notes Class F Notes Class F Notes Class A1 Notes Class A1 Notes Class A2 Notes Class A2 Notes Class A2 Notes Class C Notes Class D Notes Class C Notes Class C Notes Class C Notes Class C Notes	istribution Date 9.34 20.52 25.05 29.16 37.37 46.42 56.28	2,062,272.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32	0.99780% 0.99780% 0.99780% 0.99780% 0.99780% <u>Principal Per Cert</u> 111.49 0.00 0.00 0.00 0.00 0.00 0.00	24,616,992.00 0.00 0.00 0.00 0.00 0.00	2.05000% 2.55000% 3.55000% 4.65000% 5.85000% <u>Total Amount Perevious Distribution</u> 0.57486100 1.0000000 1.0000000 1.0000000 1.0000000 1.0000000 1.0000000	er Cert 120.83 20.52 25.05 29.16 37.37 46.42 56.28 335.63	3.04780% 3.54780% 5.64780% 5.64780% 6.84780% 6.84780% 6.84780% 26,679,264.00 192,067.20 125,049.60 67,884.48 35,875.20 37,878.72 41,872.32 27,179,891.52 2000 0.56371200 1.00000000 1.00000000 1.00000000 1.00000000



Monthly Summary Distribution Details

Monthly Cashflow Working Sheet

Monthly dustinew Working Oncer			
			Aggregate
FCC + Offset Total			4,834,768.76
Other Income			30,437.23
Interest On Collections			29,172.48
Available Distribution Amount			4,894,378.47
Other Taxes			0.00
Trustee and Manager Fees			43,265.29
Servicing Fee			300,265.66
Liquidity Commitment Fee			10,726.03
Support Facility			967,849.21
FCC Other Creditors			6,254.07
Other Expense			168.94
Liquidity Repayment Amount			0.00
A1 Coupon			2,062,272.00
A2 Coupon			192,067.20
B Coupon			125,049.60
C Coupon			67,884.48
D Coupon			35,875.20
E Coupon			37,878.72
F Coupon			41,872.32
Principal Draw Repayment Amount			0.00
Principal Charge Off Reimbursement			0.00
Extraordinary Reserve Draw Repayment Amount			0.00
Arranging Fee			52,448.52
Required Distribution Amount			3,943,877.24
Income shortfall			
Liquidity Facility Draw			0.00
Principal Draw			0.00
Extraordinary Expense Draw			0.00
Income Carryover Amount			0.00
Principal Chargeoff Unreimbursement			0.00
Principal Chargeoff			0.00
Total Principal Chargeoff Reimbursement Due			0.00
Payment Allocation Cascade			
	Due Amount	Available Amount	Paid Amount
Available Distribution Amount		, it allable , allount	4,894,378.47

Available Distribution Amount	Due Amount	Available Amount	Paid Amount 4,894,378.47
Principal Draw			4,004,070.47
Liquidity Draw			0.00
Extraordinary Expense Draw			0.00
Available Funds			4,894,378.47
Available Fullos			4,094,370.47
Other Taxes	0.00	4,894,378.47	0.00
Trustee and Manager Fees	43,265.29	4,894,378.47	43,265.29
Servicing Fee	300,265.66	4,851,113.18	300,265.66
Liquidity Commitment Fee	10,726.03	4,550,847.52	10,726.03
Support Facility	967,849.21	4,540,121.49	967,849.21
FCC Other Creditors	6,254.07	3,572,272.28	6,254.07
Other Expense	168.94	3,566,018.21	168.94
Liquidity Repayment Amount	0.00	3,565,849.27	0.00
A1 Coupon	2,062,272.00	3,565,849.27	2,062,272.00
A2 Coupon	192,067.20	1,503,577.27	192,067.20
B Coupon	125,049.60	1,311,510.07	125,049.60
C Coupon	67,884.48	1,186,460.47	67,884.48
D Coupon	35,875.20	1,118,575.99	35,875.20
E Coupon	37,878.72	1,082,700.79	37,878.72
F Coupon	41,872.32	1,044,822.07	41,872.32
Principal Draw Repayment Amount	0.00	1,002,949.75	0.00
Principal Charge Off Reimbursement	0.00	1,002,949.75	0.00
Extraordinary Reserve Draw Repayment Amount	0.00	1,002,949.75	0.00
Arranging Fee	52,448.52	1,002,949.75	52,448.52
Total Income Carryover Amount		0.00	
Total Principal Chargeoff Reimbursement			0.00
Europe Distribution			050 504 00

Excess Distribution 950,501.23 Unpaid Facility Int Chg - Liquidity 0.00 - Extraordinary Expense 0.00 Unpaid Security Interest Amount - Class A1 Notes 0.00 - Class A2 Notes 0.00 - Class B Notes 0.00 - Class C Notes 0.00 0.00 - Class D Notes - Class E Notes 0.00 - Class F Notes 0.00



Facilities Outstanding	
Liquidity Commitment Facility Limit	14,500,000.00
Beginning Liquidity Commitment Facility	14,500,000.00
Previous Liquidity Facility Draw	0.00
Repayment of Liquidity Facility	0.00
Liquidity Facility Draw	0.00
Ending Liquidity Commitment Facility	14,500,000.00
Beginning Principal Draw	0.00
Previous Principal Draw	0.00
Repayment of Principal Draw	0.00
Principal Draw	0.00
Ending Principal Draw	0.00
ExtraOrdinary Expense Facility Limit	150,000.00
Beginning ExtraOrdinary Expense Facility	150,000.00
Previous ExtraOrdinary Expense Draw	0.00
Repayment of ExtraOrdinary Expense Facility	0.00
ExtraOrdinary Expense Draw	0.00
Ending ExtraOrdinary Expense Facility	150,000.00



Coupon and Principal Distribution Worksheet	Per Certificate	Aggregate
Class A1 Notes		
Unpaid Security Coupon (after last distribution date)	0.00	0.00
Interest on Unpaid Security Coupon	0.00	0.00
Security Coupon	9.34	2,062,272.00
Total Coupon	9.34	2,062,272.00
Unpaid Security Coupon (after last distribution date) Interest on Unpaid Security Coupon Security Coupon		0.00 2,062,272.00
Coupon Payable Unpaid Security Coupon	9.34	2,062,272.00 2,062,272.00 0.00
Class A2 Notes Unpaid Security Coupon (after last distribution date)	0.00	0.00
Interest on Unpaid Security Coupon	0.00	0.00
Security Coupon	20.52	192,067.20
Total Coupon	20.52	192,067.20
Unpaid Security Coupon (after last distribution date) Interest on Unpaid Security Coupon Security Coupon		0.00 192,067.20
Coupon Payable	20.52	192,067.20
Unpaid Security Coupon		0.00
Class B Notes Unpaid Security Coupon (after last distribution date)	0.00	0.00
Interest on Unpaid Security Coupon	0.00	0.00
Security Coupon	25.05	125,049.60
Total Coupon	25.05	125,049.60
Unpaid Security Coupon (after last distribution date) Interest on Unpaid Security Coupon		0.00
Security Coupon		125,049.60
Coupon Payable	25.05	125,049.60
Unpaid Security Coupon	23.03	0.00
Class C Notes		0.00
Unpaid Security Coupon (after last distribution date)	0.00	0.00
Interest on Unpaid Security Coupon	0.00	0.00
Security Coupon	29.16	67,884.48
Total Coupon	29.16	67,884.48
Unpaid Security Coupon (after last distribution date)		
Interest on Unpaid Security Coupon		0.00
Security Coupon		67,884.48
Coupon Payable	29.16	67,884.48
Unpaid Security Coupon		0.00
Class D Notes Unpaid Security Coupon (after last distribution date)	0.00	0.00
Interest on Unpaid Security Coupon	0.00	0.00
Security Coupon	37.37	35,875.20
Total Coupon	37.37	35,875.20
Unpaid Security Coupon (after last distribution date)	51.51	35,675.20
Interest on Unpaid Security Coupon		0.00
Security Coupon		35,875.20
Coupon Payable	37.37	35,875.20
Unpaid Security Coupon Class E Notes		0.00
Class E Notes Unpaid Security Coupon (after last distribution date)	0.00	0.00
Interest on Unpaid Security Coupon	0.00	0.00
Security Coupon	46.42	37,878.72
Total Coupon	46.42	37,878.72
Unpaid Security Coupon (after last distribution date)	40.42	01,010.12
Interest on Unpaid Security Coupon		0.00
Security Coupon		37,878.72
Coupon Payable	46.42	37,878.72
Unpaid Security Coupon	-0.72	0.00
		0.00
Class F Notes		
Unpaid Security Coupon (after last distribution date)	0.00	0.00
Interest on Unpaid Security Coupon	0.00	0.00
Security Coupon	56.28	41,872.32
Total Coupon	56.28	41,872.32
Unpaid Security Coupon (after last distribution date)		
Interest on Unpaid Security Coupon		0.00
Security Coupon		41,872.32
Coupon Payable	56.28	41,872.32
Unpaid Security Coupon		0.00



Monthly Summary Distribution Details

Principal Collection	31,251,851.21
plus Repurchases	0.00
less Total Customer Redraw	-6,632,959.63
plus Redraw Bond Issue This Month	0.00
Aggregate Principal Damages from Seller & Servicer	0.00
Principal Chargeoff Reimbursement	
- Class A1 Notes	0.00
- Class A2 Notes	0.00
- Class B Notes	0.00
- Class C Notes	0.00
- Class D Notes	0.00
- Class E Notes	0.00
- Class F Notes	0.00
Principal Rounding	195.11
Scheduled Principal Amount	2,715,903.07
Unscheduled Principal Amount - Principal Prepayment	10,397,770.88
Unscheduled Principal Amount - Full Prepayment	18,138,177.26
Unscheduled Principal Amount - less Redraws + Chargeoff Reimbursement	21,902,988.51
Total Available Principal Amount for Redraw Bonds	24,619,086.69
Principal Rounding b/f	195.11
Total Unscheduled Principal Amount	21,902,988.51
Total Scheduled Principal Amount	2,715,903.07
Previous Principal Carryover Amount	0.0
Total Available Principal Amount for Notes	24,619,086.69
Net Principal Draw	0.00
Net Total Available Principal Amount for Notes	24,619,086.69

Principal Allocation	Certificate Amount	Aggregate
Class A Percentage via Stepdown		100.00
Class A1 Principal Payment	111.49	24,616,992.00
Class A2 Principal Payment	0.00	0.00
Class B Principal Payment	0.00	0.00
Class C Principal Payment	0.00	0.00
Class D Principal Payment	0.00	0.00
Class E Principal Payment	0.00	0.00
Class F Principal Payment	0.00	0.00
Principal rounding c/f		2,094.69
Outstanding Principal - beginning period		1,461,292,892.89
less Principal Repayment		-31,251,851.21
plus Total Customer Redraw		6,632,959.63
less Principal Losses		0.00
Plus Substitutions		0.00

1,436,674,001.31

Plus Substitutions Outstanding Principal - Closing period



Principal Losses

Medallion Trust Series 2017-1 Servicers Certificate

Principal Losses	0.0
Principal Draw Amount - Pool Mortgage Insurance Policy	0.0
Principal Draw Amount - Individual Mortgage Insurance Policy	0.0
Net Principal Losses	0.0
Principal Chargeoff	0.0
- Class A1 Notes	0.0
- Class A2 Notes	0.0
- Class B Notes	0.0
- Class C Notes	0.0
- Class D Notes	0.0
- Class E Notes	0.0
- Class F Notes	0.0
Class A1 Notes	
Beginning Unreimbursed Principal Chargeoffs	0.0
Principal Chargeoff	0.0
Principal Chargeoff Reimbursement	0.0
Ending Unreimbursed Principal Chargeoffs	0.0
Class A2 Notes	
Beginning Unreimbursed Principal Chargeoffs	0.0
Principal Chargeoff	0.0
Principal Chargeoff Reimbursement	0.0
Ending Unreimbursed Principal Chargeoffs	0.0
Class B Notes	
Beginning Unreimbursed Principal Chargeoffs	0.0
Principal Chargeoff	0.0
Principal Chargeoff Reimbursement	0.0
Ending Unreimbursed Principal Chargeoffs	0.0
Class C Notes	
Beginning Unreimbursed Principal Chargeoffs	0.0
Principal Chargeoff	0.0
Principal Chargeoff Reimbursement	0.0
Ending Unreimbursed Principal Chargeoffs	0.0
Class D Notes Beginning Unreimbursed Principal Chargeoffs	0.0
Principal Chargeoff	0.0
Principal Chargeoff Reimbursement	0.0
Ending Unreimbursed Principal Chargeoffs	0.0
Class E Notes	
Class E Notes Beginning Unreimbursed Principal Chargeoffs	0.0
Principal Chargeoff	0.0
Principal Chargeoff Reimbursement	0.0
Ending Unreimbursed Principal Chargeoffs	0.0
Class F Notes	
Class F Notes Beginning Unreimbursed Principal Chargeoffs	0.0
Principal Chargeoff	0.0
Principal Chargeoff Reimbursement	0.0
Ending Upreimbursed Principal Chargeoffs	0.0



Investors Balance Outstanding Worksheet	Foreign Aggregate	AUD Aggregate
Class A1 Notes AUD Initial Invested Amount Previous Principal Distribution Principal Carryover Amount Principal Distribution for Current Period Total Principal Distribution to Date Beginning Invested Amount Ending Invested Amount Unreimbursed Principal Chargeoffs Beginning Stated Amount Ending Stated Amount		2,208,000,000.00 938,706,912.00 0.00 24,616,992.00 963,323,904.00 1,269,293,088.00 1,244,676,096.00 1,269,293,088.00 1,244,676,096.00
Class A2 Notes AUD Initial Invested Amount Previous Principal Distribution Principal Carryover Amount Principal Distribution for Current Period Total Principal Distribution to Date Beginning Invested Amount Ending Invested Amount Unreimbursed Principal Chargeoffs Beginning Stated Amount Ending Stated Amount		93,600,000.00 0.00 0.00 93,600,000.00 93,600,000.00 93,600,000.00 93,600,000.00 93,600,000.00
Class B Notes AUD Initial Invested Amount Previous Principal Distribution Principal Carryover Amount Principal Distribution to Current Period Total Principal Distribution to Date Beginning Invested Amount Ending Invested Amount Unreimbursed Principal Chargeoffs Beginning Stated Amount Ending Stated Amount		49,920,000.00 0.00 0.00 49,920,000.00 49,920,000.00 49,920,000.00 49,920,000.00
Class C Notes AUD Initial Invested Amount Previous Principal Distribution Principal Carryover Amount Principal Distribution for Current Period Total Principal Distribution to Date Beginning Invested Amount Ending Invested Amount Unreimbursed Principal Chargeoffs Beginning Stated Amount Ending Stated Amount		$\begin{array}{c} 23,280,000.00\\ 0.00\\ 0.00\\ 0.00\\ 23,280,000.00\\ 23,280,000.00\\ 23,280,000.00\\ 0.00\\ 23,280,000.00\\ 23,280,000.00\end{array}$
Class D Notes AUD Initial Invested Amount Previous Principal Distribution Principal Carryover Amount Principal Distribution to Current Period Total Principal Distribution to Date Beginning Invested Amount Unreimbursed Principal Chargeoffs Beginning Stated Amount Ending Stated Amount		9,600,000.00 0.00 0.00 9,600,000.00 9,600,000.00 9,600,000.00 9,600,000.00 9,600,000.00
Class E Notes AUD Initial Invested Amount Previous Principal Distribution Principal Carryover Amount Principal Distribution for Current Period Total Principal Distribution to Date Beginning Invested Amount Ending Invested Amount Unreimbursed Principal Chargeoffs Beginning Stated Amount Ending Stated Amount		8,160,000.00 0.00 0.00 8,160,000.00 8,160,000.00 8,160,000.00 8,160,000.00 8,160,000.00
Class F Notes AUD Initial Invested Amount Previous Principal Distribution Principal Distribution for Current Period Total Principal Distribution to Date Beginning Invested Amount Ending Invested Amount Unreimbursed Principal Chargeoffs Beginning Stated Amount Ending Stated Amount		7,440,000.00 0.00 0.00 7,440,000.00 7,440,000.00 7,440,000.00 7,440,000.00 7,440,000.00



Monthly Summary Distribution Details

	Average	Monthly	Percentage
--	---------	---------	------------

Current Balance of Arrears greater than 60 days
Current Outstanding Loan Balance
Average Monthly Percentage
Monthly Percentage - Current Period
Monthly Percentage Month 2
Monthly Percentage Month 3
Monthly Percentage Month 4
Monthly Percentage Month 5
Monthly Percentage Month 6
Monthly Percentage Month 7
Monthly Percentage Month 8
Monthly Percentage Month 9
Monthly Percentage Month 10
Monthly Percentage Month 11
Monthly Percentage Month 12

7,952,210.64 1,436,674,001.31 0.53 0.55 0.55 0.55 0.55 0.53 0.58 0.56 0.50 0.50 0.51

0.44